Lesson 6

Read Chapter 4 (no  Uniform  amotion Yet)
Linear modeling

Lines and Circles word problems
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Find the tangent to to the circle (x —3)* + (y +2)* =5
through the point Q(0, 8)
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Find the equation of the line tangent to to the circle
(x —3)? + (y +2)? = 5 and parallel to the line
4x =2y +10=0
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Clue words: LINEAR , CONSTANT RATE

Goal: find the equation of a line and use it to answer questions in
the problem
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Similar %o ch ( #3
A crop dusting airplane flying a constant speed of 120mph is first
spotted 2 miles South and 1.5 miles East of the center of circular
irrigated field. The irrigated field has radius 1 mile. The plane flies

in a straight line to a point 1 mile West of the center of the

trri ' Impose o Coordinate %stemwm wedh the oriqin @t Fhe
irrigated field. impose S oSt 8 DI

Find the location A where the crop duster enters the airspace
above the field
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When does the plane first enter the airspace above the field ?
(Assume time t=0 corresponds to when the plane is first spotted)

| A P(i.s,-2)

(0.22, -0.81)
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How much time does the plane spend flying over the irrigated field?

C-1,0)

| A P(i.s,-2)

(0.22, -0.81)
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How close does the plane get to the center of the field?

¢-1,0)

Loy PCi.s,-2)

(0.2, -0.81)
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